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1 950| F |JO-+N#k-B 1R CER 1 1 1 2 |W-T 2
2 9562| B |7V Bk ZP70| 1RFE 12 1 12 2 |W-T 2
3 964| C | PV Afh-YZPT70| 1RFTE 14 1 12 2 |W-T 2
4 956 F |JO-D#k-B 1R CER 3 1 3 2 |W-T 2
5 9568| G |77V -+Nfk+B 1R CER 1 1 1 2 (W-T 2
6 1000| G |7V -+D#k-B 1R CER 2 1 2 2 |W-T 2
7 1002 C | PV +Bifk-YZP50 1R C&ER) 4 1 4 3 [W-T- 4
8 1006 B |V Bik-YZP70| MEREH 12 1 6 3 [W-T- 5
9 1011 F |[JO-N#k-B SRES 1 1 lgfz | 2 |W-T 2
10 10113 C [PV -Afk-YZP70| HEREH 12 1 6 3 (WeT-F 5
11 1018 F |JO-D#k-B RS 3 1 gz | 2 |W-T 3
12 1021 G |7V +N#k-B RS 1 1 gz | 2 |WeT 3
13 1024 G |PV¥-D#-B SRES 2 1 lgfz | 2 |W-T 3
14 1027 C |7V +Bifk->Z77’50 SRES 4 1 gz | 4 (WeT-+F-+Q 6
15 1033| B |7V +Bifk->=Z7770 RS 6 1 gz | 4 [WeT-+F-+Q 7
16 1040 C |P¥Y-Afk->YZP70 RS 6 1 gz | 4 [WeT-+F-Q 7
17 1047 C |PV-B#k-B 1RFE 15 2 12 4 |W-T 7
18 1054 B |JO-Bfk-Y=7 1R CER 3 1 3 3 [W.T-F 3
19 1067 C |P¥+B#hk¥Z760 |[1XR CER) 6 1 6 3 (WeT-F 3
20 1100 C |7V -Bi#k-B HEIRRH 12 1 6 3 [WeT-F 5
21 1105 B |JO-Bfk-Y=7 RS 3 1 gz | 4 [WeT-+F-Q 5
22 1110 G |9V W 1R CER) 1 1 1 1 W 2
23 1112 G |DILE2SYZP T 1R CER) 1 1 1 10T 2
24 1114 G |DILESYZP - F 1R CER 1 1 1 1 |F 2
25 11116 READ BHEAT—FVZB - A 16
26 1132 G |9V W RS 1 1 lEfiz 1 (W 2
27 134 G |97 T SRES 1 1 lEfiz 10T 2
28 11386 G |DILEZSYZFP-F SRES 1 1 lgfiz 1 |F 2
29 1138 B |JO-C#-B 1R CER 5 1 5 3 (WeT-F 4
30 1142 C | PV -B#k+B RS 6 1 gz | 4 WeT-+F-+Q 7
31 1149| B |7V« Afk->YZ7760 (1R (ER) | 10 1 6 3 [WeT-F 5
32 1154 C |JO- Ak Y7 1R CER 7 1 6 3 [W.T-F 5
33 1159 C |7V -Biks 7760 SRES 6 1 gz | 4 WeT-+F-+Q 7
34 1206 B |77V -+ Ak« 27760 SRES 6 1 gz | 4 [WeT-+F-Q 7
35 1213 B |JO-C#-B RS 5 1 gz | 3 |WeT-F 5
36 1218| C |JO- Ak Y7 RS 6 1 gz | 4 (WeT-+F-+Q 7
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37 1225 REAQ (BBEZT—F VB AR 15
38 1240 L |7’V +Nifk-L 1R CER 1 1 1 2 |C+R 2
39 1242 L |7V -Dfk-L 1R CER 2 1 2 2 |C*R

40 1244 H |JO-BEREFHE- L 1RFE 12 1 12 4 |[C+S-R-P 7
41 12561 L |JO-D#k-L 1R CER 2 1 2 2 |C+R 2
42 12863 K |7PV¥+CiHk- L 1R CER 9 1 6 3 |C+S*R 5
43 12568 J |JO-C#k-L 1R CER 6 1 6 3 [C+S-R 4
44 18302 H |’V -Bfk-L TR CER) 9 1 6 4 |[C+S-R-P 6
45 1308 | |JO-B#k-L 1R &R 7 1 6 4 |[C+S*R-P 7
46 18315 H | PY-AfkS7TY 1R CER 7 1 6 4 |[C+S*R-P 7
47 1322 H |70 -BREFE- L HERRH 12 1 5 |[C-S*R-P-J 11
48 1333 L [PV Nk L RS 1 1 lgfz | 2 |C-R 2
49 1335 L [PV -Di- L RS 2 1 gz | 2 |C-R 3
50 1338 L |JO-D#k-L SRES 2 1 gz | 2 |C-+R 2
51 1340, K [PV -Cik-L SRES 6 1 lgfz | 3 |[C+S-+R 5
52 1345 J |JO-C#k-L RS 6 1 gz | 3 |C+S R 5
53 1350 H |77V -Bfk-L RS 6 1 lgfz | 4 |C+S<R-P 8
54 13568 | |JO-B#k-L RS 6 1 lgfz | 5 |[C+S*R+P-J 7
55 1405 H |7V -Afk-L SRES 6 1 lgfz | 5 |[C+S*R+P-J 7
56 1412 H |JO-BREFHE- L SRES 6 1 gz | 56 |[C+S*R+P-J 11
57 1423 REAQ (BHEAT—F VB A 20
58 1443 C | PV -Afk-B 1 RFHE 15 2 12 6 |(WeT-F 9
59 1452 A |JO-##RIEFE-B| 1RFE 19 2 12 8 |WeT-F-Q 14
60 1506 E |PVY-Ci#k-B 1R CER 9 1 6 3 [W.T-F 5
61 1511 D [PV Ak YZP50 1R CER) 7 1 6 3 (WeT-F 5
62 1516 B |JO-B#k-B 1R CER 9 1 6 4 (WeT-F-Q 6
63 1622 C | PV -A#k-B HERR 12 1 6 4 (WeT-F-Q 7
64 1529 A |7JO-#x)IEFE-B HERR 12 1 6 5 [WeT-VweF-Q | 11
65 1540 E |PVY-Cik-B SRES 6 1 lgfz | 3 |[WeT-F 5
66 1545 D |7V Ak 27750 SRES 6 1 gz | 4 [WeT-+F-Q 7
67 15652 B |JO-B#k-B RS 6 1 gz | 5 [WeTeVw+F *-Q 7
68 1669 C | PV -A#k-B RS 6 1 gz | 5 WeTeVw+F +-Q 7
69 1606 A |7J0O-#x)IEFE-B SRES 6 1 gz | 5 WeTeVweF-Q | 12
70 1618 REAGD (BHEZT—F VB AR 20
71 1638 MERE8 (KEXRTEER)
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